knh_V1024 Her_g 30s 2024-06-04T03-
UTC 2024-06-04 03:44:30.07 ,

Mean = 1092.878

o = 458.847

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 o0 = 863.455

max = mean + 2 0 = 2010.572
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knh>V/1024 Her r_30s 2024-06-04T03-4

UTC 2024-06-04 03:45:30.04 ,

Mean = 1119.029

O =1538.51 5t

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 ="849.771

max = mean + 2 0 = 2196,059

. l‘\\__l‘

e
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knh_V1024_Her i 30s_2024-06-04T03-4

UTC 2024-06-04 03:46:30.02 ,
Mean = 1148.781

o=1438.113 ;

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 929.724
max = mean + 2 o = 2025.006
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2000




knh_V1024 Her_g 30s 2024-06-04T03-
UTC 2024-06-04 03:59:30.02 ,

Mean = 1075.620

o = 442.481 g

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 854.379

max = mean + 2 0 = 1960.582

750 1000 1250 1500 1750 2000




knh_V1024 Her r_30s 2024-06-04T04-(
UTC 2024-06-04 04:00:30.02 ,

Mean = 1109.412

o =536.840

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 840.992

max = mean + 2 0 = 2183.092

750 1000 1250 1500 1750 2000




knh V1024 Her i 30s 2024-06-04T04-C
UTC 2024-06-04 04:01:30.05 ,

Mean = 1123.384

o = 468.896

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 888.936

maXx = mean + 2 o = 2061.176

750 1000 1250 1500 1750 2000




knh_V1024 Her_g 30s 2024-06-04T04-
UTC 2024-06-04 04:14:30.05 ,

Mean = 1072.119

o = 466.185

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 839.027
max = mean + 2 o0 = 2004.489
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knh_ V1024 Her r 30s 2024-06-04T04-1
UTC 2024-06-04 04:15:30.08

Mean = 1100.976

o = 549.297

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 826.328

maXx = mean + 2 o = 2199.57

750 1000 1250 1500 1750 2000




knh_V1024 Her i 30s_2024-06-04T04-1
UTC 2024-06-04 04:16:30.01

Mean = 1119.790

o = 464.670

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 887.455
max = mean + 2 0 = 2049.131
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knh_V1024 Her_g 30s 2024-06-04T04-
UTC 2024-06-04 04:29:30.02

Mean = 1065.274

o=477.999

Exposure Time =30.0 s

1MHZ High Sensitivity 16-bit

min = mean - 0.5 0 = 826.274

max = mean + 2 0 = 2021.272
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knh_V1024 Her r 30s 2024-06-04T04-:

UTC 2024-06-04 04:30:30.02
Mean = 1091.958

o = 569.639

Exposure Time =30.0 s

1MHZ High Sensitivity 16-bit
min = mean - 0.5 o = 807.139
maXx = mean + 2 0 = 2231.237
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knh_V1024 Her i 30s_2024-06-04T04-3

UTC 2024-06-04 04:31:30.02
Mean = 1117.477

o=478.314

Exposure Time =30.0 s

1MHZ High Sensitivity 16-bit
min = mean - 0.5 0 = 878.32
maXx = mean + 2 o = 2074.105
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knh_V1024 Her_g 30s 2024-06-04T04-
UTC 2024-06-04 04:44:30.06-

Mean = 1067.848

o = 463.790

Exposure Time =30.0 s

1MHZz High Sensitivity 16-bit

min = mean - 0.5 0 = 835.953

max = mean + 2 0 = 1995.428
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knh_V1024_Her r 30s_2024-06-04T04-4

UTC 2024-06-04 04:46:58.89-
Mean = 1091.685

o = 546.346

Exposure Time =30.0 s
1MHz'High Sensitivity 16-bit
min = mean - 0.5 0 = 818.512
maXx = mean + 2 o = 2184.376
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knh_V1024_Her i 30s_2024-06-04T04-4

UTC 2024-06-04 04:47:45.02-
Mean = 1102.242

o = 459.426

Exposure Time =30.0 s
1MHz'High Sensitivity 16-bit
min = mean - 0.5 0 = 872.529
maXx = mean + 2 o = 2021.095
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knh_V1024 Her_g 30s 2024-06-04T04-

UTC 2024-06-04 04:59:30.07 .

Mean = 1064.647 ¥
.0 =450.772

Exposure Time =30.0 s

1MHz ‘High Sensitivity 16-bit

min = mean - 0.5 0 = 839.262

max = mean + 2 0 = 1966.191

1000 1250 1500 1750 2000




knh_V1024 Her r_30s_2024-06-04T05-(
+ UTC 2024-06-04 05:00:30.04 .

Mean = 1090.992

o =542.686

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 819.649
max = mean + 2 0 = 2176.365
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knh V1024 Her i 30s_2024-06-04T05-0
+ UTC 2024-06-04 05:01:30.03 .

Mean = 1112.971

o= 462.378

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 881.782
maXx = mean + 2 o = 2037.728
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knh V1024 Her g 30s 2024-06-04T05-
- UTC 2024-06-04 05:14:30.04

Mean = 1058.180 .

0 =480.231 "

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 o = 818.065

max = mean + 2 0 = 2018.641
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knh_V1024 Her r 30s 2024-06-04T05-1

« UTC 2024-06-04 05:15:30.02 .
Mean = 1080.674 .
o =564.503 i

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 o0 = 798.423
maXx = mean + 2 o = 2209.68
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knh V1024 Her i 30s 2024-06-04T05-1
. UTC 2024-06-04 05:16:30.07 .

Mean = 1101.807 .

o=473.796 .

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 864.909

max = mean + 2 0 = 2049.399

750 1000 1250 1500 1750 2000




knh V1024 Her g 30s 2024-06-04T05-
. UTC 2024-06-04 05:29:30.03 .

Mean = 1060.639 .

0 =469.458 i

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 825.91

max = mean + 2 0 = 1999.556

750 1000 1250 1500 1750 2000




knh_V1024 Her r_30s 2024-06-04T05-3
. UTC 2024-06-04 05:30:30.05 .

Mean = 1081.936 .

0=>546.271 A

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 o = 808.8

max = mean + 2 0 = 2174.478

750 1000 1250 1500 1750 2000




knh_V1024_Her i 30s_2024-06-04T05-3

. UTC 2024-06-04 05:31:30.05 .
Mean = 1095.108 .
o = 467.845 A

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 861.185
max = mean + 2 o = 2030.797
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knh V1024 Her g 30s 2024-06-04T05-
. UTC 2024-06-04 05:44:30.04

Mean = 1061.285 -

o= 461.087 )

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 830.741

max = mean + 2 0 = 1983.458
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knh V1024 Her r 30s_2024-06-04T05-4

. UTC 2024-06-04 05:45:30.04
Mean = 1084.464 T
o = 540.332 :

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 o0 = 814.298
maXx = mean + 2 0 = 2165.128
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knh V1024 Her i 30s 2024-06-04T05-4
. UTC 2024-06-04 05:46:30.09

Mean = 1105.476 e

o= 467.884 i

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 871.534

maX = mean + 2 o = 2041.244

750 1000 1250 1500 1750 2000




knh V1024 Her g 30s _2024-06-04T05-
. UTC 2024-06-04 05:59:30.10

Mean = 1067.252 s

o = 431.575

Exposure Time =30.0's

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 851.465

max = mean + 2 0 = 1930.401
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knh_V1024 Her r 30s_2024-06-04T06-(

. UTC 2024-06-04 06:00:30.05
Mean = 1090.794 "k

o=514.039

Exposure Time =30.0's

1MHz High Sensitivity 16-bit

min = mean - 0.5 o = 833.774

maXx = mean + 20 = 2118.873
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knh_V1024 Her i 30s_2024-06-04T06-0

. UTC 2024-06-04 06:01:30.06
Mean = 1104.603 R
o = 434.085

Exposure Time =30.0's

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 887.561
max = mean + 2 0 = 1972.773
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knh_V1024 Her_g_30s_2024-06-04T06-
UTC 2024-06-04 06:14:30.07
" Mean = 1062.489 '
o = 463.227
Exposure Time =30.0"s
1MHz High Sensitivity 16-bit
min ='mean - 0.5 0 = 830.876
max = mean + 2 0 = 1988.944
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knh_V1024 Her r 30s_2024-06-04T06-1

UTC 2024-06-04 06:15:30.07

" Mean = 1081.029

o = 554.865

Exposure Time =30.0"s

1MHz High Sensitivity 16-bit
min ="'mean - 0.5 o0 = 803.597
max = mean + 2 0 = 2190.759
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knh_V1024 Her_i_30s_2024-06-04T06-1

UTC 2024-06-04 06:16:30.08
" Mean = 1102.826

o=461.262

Exposure Time =30.0"s

1MHz High Sensitivity 16-bit
min ='mean - 0.5 0 = 872.195
max = mean + 2 o = 2025.349
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knh V1024 Her g 30s 2024-06-04T06-29-

UTC 2024-06-04 06:29:30. 07
" Mean = 1066.718

o =424.311

Exposure Time =30.0"s

1MHz High Sensitivity 16-bit

min ="mean - 0.5 0 = 854.563

max = mean + 2 0 = 1915.34

1000 1250 1500 1750 2000




knh V1024 Her r 30s 2024-06-04T06-3

UTC 2024-06-04 06:30:30. 06

* Mean = 1091.668

o =511.800

Exposure Time =30.0"s

1MHz High Sensitivity 16-bit
min =*mean - 0.5 0 = 835.768
max = mean + 2 0 = 2115.269
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knh_V1024 Her_i_30s_2024-06-04T06-3

UTC 2024-06-04 06:31:30. 09

* Mean = 1108.912

o = 415.591

Exposure Time =30.0"s

1MHz High Sensitivity 16-bit
min ="mean - 0.5 0 = 901.116
max = mean + 2 o0 = 1940.094
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knh_V1024 Her_i_30s_2024-06-04T06-3

UTC 2024-06-04 06:39:50.08

* Mean = 1104.779

o= 410.070

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =*mean - 0.5 0 = 899.744
maXx = mean + 2 o = 1924.918
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knh V1024 Her g 30s 2024-06-04T06-

UTC 2024-06-04 06:40:38.56

* Mean = 1067.974

o= 435.673

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =*mean - 0.5 0 = 850.137
max = mean + 2 0 = 1939.32
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knh_ V1024 Her r 30s 2024-06-04T06-4

UTC 2024-06-04 06:41:23.23

* Mean = 1088.575

o =516.283

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =*mean - 0.5 0 = 830.433
max = mean + 2 0 = 2121.141
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knh_ V1024 Her g 30s 2024-06-04T06-5

UTC 2024-06-04 06:50:00.06

* Mean = 1060.010

o = 483.337

. Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =*mean - 0.5 0 = 818.342
maXx = mean + 2 o0 = 2026.684
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knh V1024 Her r 30s 2024-06-04T06-5
UTC 2024-06-04 06:51:00.06
* Mean = 1074.796
o = 573.356
. Exposure Time =30.0:s
1MHz High Sensitivity 16-bit
min ==mean - 0.5 o0 = 788.118
maXx = mean + 2 0 = 2221.507

750 1000 1250 1500 1750 2000




knh V1024 Her i 30s 2024-06-04T06-5

UTC 2024-06-04 06:52:00.06

* Mean = 1099.230

o =478.309

. Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min ==mean - 0.5 0 = 860.075
max = mean + 2 0 = 2055.848
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knh_V1024 Her_hrg 420s_2024-06-04TP6-53-00

UTC 2024-06-04 06:53:17.28

Mean = 1067.478

o= 116.349

Exposure Time =420.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 o = 1009.303
max = mean + 2 o = 1300.176
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knh V1024 Her g 30s 2024-06-04T07-
UTC 2024-06-04 07:05:00.04
* Mean = 1058.031 ;
o = 487.580
Exposure Time =30.0-s
1MHz High Sensitivity 16-bit
min =mean - 0.5 0 = 814.241
max = mean + 2 0 = 2033.192

1000 1250 1500 1750 2000




knh V1024 Her r 30s 2024-06-04T07-(

UTC 2024-06-04 07:06:00.04

* Mean = 1073.233

o =570.571

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =*mean - 0.5 0 = 787.948
max = mean + 2 0 = 2214.375
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knh_V1024 Her_i_30s_2024-06-04T07-C

UTC 2024-06-04 07:07:00.08

* Mean = 1110.257

o=476.864

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =*mean - 0.5 0 = 871.825
maXx = mean + 2 o0 = 2063.985
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knh_V1024 Her_hrg 420s_2024-06-04TP7-08-00

UTC 2024-06-04 07:08:17.35

Mean = 1072.276

o = 119.657

Exposure Time =420.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 1012.448
maXx = mean + 2 0 = 1311.59
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knh_V1024 Her_g 30s 2024-06-04T07-
UTC 2024-06-04 07:20:00.10
* Mean = 1057.844 ’
o = 493.630
Exposure Time =30.0-s
1MHz High Sensitivity 16-bit
min =mean - 0.5 0 = 811.029
max = mean + 2 0 = 2045.105
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knh_ V1024 Her r 30s 2024-06-04T07-2

UTC 2024-06-04 07:21:00.08

* Mean = 1074.948 .
o =575.362

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit

min =mean - 0.5 0 = 787.267

maXx = mean + 2 0 = 2225.673
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knh_V1024 Her_i_30s_2024-06-04T07-2

UTC 2024-06-04 07:22:00.05

* Mean =1110.770 ;
o = 482.967

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit

min =mean - 0.5 0 = 869.286

maXx = mean + 2 o = 2076.703
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knh V1024 Her hrg 420s 2024-06-04TP7-23-00

UTC 2024-06-04 07:23:17. 31

Mean = 1070.504

o= 123.602

Exposure Time =420.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 o = 1008.703
max = mean + 20 = 1317.709
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knh_ V1024 Her g 30s 2024-06-04T07-
UTC 2024-06-04 07:35:00.04
« Mean = 1060.156
o =481.732
Exposure Time =30.0-s
1MHz High Sensitivity 16-bit
min =mean - 0.5 0 = 819.29
max = mean + 2 0 = 2023.621
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knh_V1024 Her r_30s 2024-06-04T07-3

UTC 2024-06-04 07:36:00.11

* Mean = 1077.634

o = 566.567

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =-mean - 0.5 0 = 794.35
max = mean + 2 0 = 2210.767
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knh_V1024 Her_i_30s_2024-06-04T07-3

UTC 2024-06-04 07:37:00.09

* Mean = 1113.372

o=474.185

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =-mean - 0.5 0 = 876.279
max = mean + 2 0 = 2061.743
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knh_V1024 Her_hrg 420s_2024-06-04TP7-38-00

UTC 2024-06-04 07:38:17.25

Mean = 1072.817

o = 124.765

Exposure Time =420.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 c = 1010.434
maX = mean + 2 0 = 1322.346
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knh V1024 Her g 30s 2024-06-04T07-
UTC 2024-06-04 07:50:00.06
* Mean = 1059.581 g

o= 477.887

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =mean - 0.5 0 = 820.638
max = mean + 2 o0 = 2015.356
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knh V1024 Her r 30s 2024-06-04T07-5

UTC 2024-06-04 07:51:00.10

* Mean = 1081.496

o = 555.760

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =-mean - 0.5 0 = 803.616
max = mean + 2 0 = 2193.016
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knh_ V1024 Her i 30s 2024-06-04T07-5

UTC 2024-06-04 07:52:00.10

* Mean = 1115.260

o= 472.989

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =-mean - 0.5 0 = 878.765
max = mean + 2 0 = 2061.239
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knh_V1024 Her_hrg 420s_2024-06-04TP7-53-00

UTC 2024-06-04 07:53:17.31

Mean = 1073.800

o= 124.456

Exposure Time =420.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 1011.572
maXx = mean + 2 0 = 1322.712
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knh_V1024 Her_g 30s 2024-06-04T08-
UTC 2024-06-04 08:05:00.08
+ Mean = 1062.487
o = 450.444
Exposure Time =30.0.s
1MHz High Sensitivity 16-bit
min =mean - 0.5 0 = 837.265
max = mean + 2 0 = 1963.374
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knh_V1024 Her r 30s_2024-06-04T08-(

UTC 2024-06-04 08:07:32.09

- Mean = 1088.327

o = 545.694

. Exposure Time =30.0.s

1MHz High Sensitivity 16-bit
min =-mean - 0.5 0 = 815.48
max = mean + 2 0 = 2179.715
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knh_V1024 Her i 30s_2024-06-04T08-

UTC 2024-06-04 08:08:18.36

* Mean = 1120.868

o = 448.929

Exposure Time =30.0.s

1MHz High Sensitivity 16-bit
min =-mean - 0.5 0 = 896.403
max = mean + 2 0 = 2018.726

750

1000

1250

1500

1750

2000




250

500

750

1000

1250

1500

1750

2000

knh_V1024 Her_hrg 420s_2024-06-04TP8-08-00

UTC 2024-06-04 08:09:36.36

Mean = 1093.917

o = 150.136

Exposure Time =420.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 1018.849
maXx = mean + 2 o = 1394.189
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knh_V1024 Her_g 30s 2024-06-04T08-
UTC 2024-06-04 08:20:00.09
* Mean = 1076.336
o = 376.445
Exposure Time =30.0-s
1MHz High Sensitivity 16-bit
min =*mean - 0.5 0 = 888.113
max = mean + 2 0 = 1829.227
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knh_V1024 Her r_30s 2024-06-04T08-7

UTC 2024-06-04 08:21:00.07

* Mean = 1113.509

o = 455.959

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =*mean - 0.5 0 = 885.53
max = mean + 2 0 = 2025.428
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knh_V1024 Her_i_30s_2024-06-04T08-2

UTC 2024-06-04 08:22:00.10

* Mean = 1118.637

o = 387.257

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =mean - 0.5 0 = 925.008
max = mean + 2 o = 1893.15
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knh_V1024 Her_hrg 420s_2024-06-04TP8-23-00

UTC 2024-06-04 08:23:16.37

Mean = 1097.239

o = 154.314

Exposure Time =420.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 o0 = 1020.082
max = mean + 2 o = 1405.866
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knh V1024 Her g 30s 2024-06-04T08-
UTC 2024-06-04 08:35:00.05
* Mean = 1088.221
o = 320.597
Exposure Time =30.0-s
1MHz High Sensitivity 16-bit
min =mean - 0.5 0 = 927.923
max = mean + 2 0 = 1729.415
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knh_V1024 Her r_30s 2024-06-04T08-3

UTC 2024-06-04 08:36:00.11

* Mean = 1130.924

o= 406.627

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =-mean - 0.5 0 = 927.61
max = mean + 2 0 = 1944.178
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knh_V1024 Her_i_30s_2024-06-04T08-3
UTC 2024-06-04 08:37:00.07
* Mean = 1111.862
o=417.141

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =-mean - 0.5 0 = 903.291
max = mean + 2 0 = 1946.143
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knh_V1024 Her_hrg 420s_2024-06-04TP8-38-00

UTC 2024-06-04 08:38:17.36

Mean = 1078.471

o= 131.802

Exposure Time =420.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 o = 1012.57
maXx = mean + 2 o = 1342.074
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knh_V1024 Her_g 30s 2024-06-04T08-

UTC 2024-06-04 08:50:00.09

* Mean = 1064.752

o= 467.081

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min =*mean - 0.5 0 = 831.212
maXx = mean + 2 o = 1998.914
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knh_V1024 Her r_30s_2024-06-04T08-5
UTC 2024-06-04 08:51:00.09
* Mean = 1087.377 .

o = 551.327

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min ==mean - 0.5 0 = 811.713
max = mean + 2 0 = 2190.03
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knh_V1024 Her_i_30s_2024-06-04T08-5

UTC 2024-06-04 08:52:00.10

* Mean = 1102.266

o = 444,515

Exposure Time =30.0-s

1MHz High Sensitivity 16-bit
min = mean - 0.5 o = 880.008
max = mean + 2 0 = 1991.296
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knh_V1024 Her_hrg 420s_2024-06-04TP8-53-00

UTC 2024-06-04 08:53:17.37

Mean = 1081.374

o = 133.566

Exposure Time =420.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 1014.591
maX = mean + 2 o = 1348.505
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knh_V1024 _Her_g_30s_2024-06-04T09-

UTC 2024-06-04 09:05:00.06

- Mean = 1067.511

o = 450.062

Exposure Time =30.0.s

1MHz High Sensitivity 16-bit
min =-mean - 0.5 o0'= 842.48
maXx = mean + 2 0 = 1967.635
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knh_V1024_Her_r_30s_2024-06-04T09-(

UTC 2024-06-04 09:06:00.11

- Mean = 1088.861

o = 545.804

Exposure Time =30.0.s

1MHz High Sensitivity 16-bit
min =-mean - 0.5 o'= 815.959
max = mean + 2 0 = 2180.468

750

1000

1250

1500

1750

2000




knh_V1024_Her_i_30s_2024-06-04T09-0

UTC 2024-06-04 09:07:00.08

- Mean = 1100.740

o = 455.958

Exposure Time =30.0.s

1MHz High Sensitivity 16-bit
min =-mean - 0.5 o0'= 872.761
maXx = mean + 2 o = 2012.656
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knh_V1024 Her_hrg 420s_2024-06-04TP9-08-00

UTC 2024-06-04 09:10:02.32

Mean = 1081.704

o= 137.188

Exposure Time =420.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 c = 1013.11
maXx = mean + 2 o = 1356.08
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knh_V1024 Her_g 30s 2024-06-04T09-
UTC 2024-06-04 09:20:00.10
- Mean = 1090.654
o = 322.959
Exposure Time =30.0.s
1MHz High Sensitivity 16-bit
min =.mean - 0.5 0 = 929.174
max = mean + 2 0 = 1736.572

750 1000 1250 1500 1750 2000




knh_V1024 Her r_30s 2024-06-04T09-7

UTC 2024-06-04 09:21:00.07

+ Mean = 1124.227

o = 407.926

Exposure Time =30.0.s

1MHz High Sensitivity 16-bit
min =.mean - 0.5 o'= 920.264
max = mean + 2 0 = 1940.08
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knh_V1024 Her_i_30s_2024-06-04T09-2

UTC 2024-06-04 09:22:00.07

- Mean =1115.914

o = 387.894

Exposure Time =30.0.s

1MHz High Sensitivity 16-bit
min =.mean - 0.5 o0'= 921.968
max = mean + 2 0 = 1891.702
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knh_V1024 Her_hrg 420s_2024-06-04TP9-23-00

UTC 2024-06-04 09:23:16.27

Mean = 1089.302

o = 148.086

Exposure Time =420.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 o = 1015.259
maXx = mean + 2 o = 1385.474
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knh_V1024 Her_g_30s_2024-06-04T09-

UTC 2024-06-04 09:35:00.07

- Mean = 1079.252

o = 392.573

Exposure Time =30.0.s

1MHz High Sensitivity 16-bit
min =.mean - 0.5 o0'= 882.966
max = mean + 2 0 = 1864.397
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knh_V1024_Her _r_30s_2024-06-04T09-:

UTC 2024-06-04 09:36:00.12

. Mean = 1130.095

o = 423.485

Exposure Time =30.0.s

1MHz High Sensitivity 16-bit
min =.mean - 0.5 0'= 918.352
max = mean + 2 0 = 1977.064
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knh_V1024 Her_i_30s_2024-06-04T09-3

UTC 2024-06-04 09:37:00.08

«+ Mean =1118.201

o = 396.140

Exposure Time =30.0.s

1MHz High Sensitivity 16-bit
min =.mean - 0.5 o'= 920.131
max = mean + 2 0 = 1910.481
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knh_V1024 Her_hrg 420s_2024-06-04TP9-38-00

UTC 2024-06-04 09:38:16.27

Mean = 1092.968

o= 153.177

Exposure Time =420.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 1016.38
maXx = mean + 2 o0 = 1399.322
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knh_V1024 _Her_g_30s_2024-06-04T09-

UTC 2024-06-04 09:50:00.12
- Mean = 1081.883

o = 425.393
Exposure Time =30.0.s
1MHz High Sensitivity 16-bit
min =mean - 0.5 0= 869.186
maXx = mean + 2 o = 1932.669

750

1000

1250

1500

1750

2000




knh_V1024_Her_r_30s_2024-06-04T09-3

UTC 2024-06-04 09:51:00.10
«+ Mean =1133.971

o = 442.915
Exposure Time =30.0,s
1MHz High Sensitivity 16-bit
min =mean - 0.5 0= 912.514
max = mean + 2 g = 2019.801
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knh_V1024_Her_i_30s_2024-06-04T09-5

UTC 2024-06-04 09:52:00.10
+ Mean = 1119.278

o = 409.365
Exposure Time =30.0.s
1MHz High Sensitivity 16-bit
min =mean - 0.5 0 = 914.596
max = mean + 2 o0 = 1938.009
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knh_V1024 Her_hrg 420s_2024-06-04TP9-53-00

UTC 2024-06-04 09:53:16.28

Mean = 1111.886

o=178.672

Exposure Time =420.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 o0 = 1022.55
maX = mean + 2 0 = 1469.23
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knh_V1024 Her_g 30s 2024-06-04T10-

UTC 2024-06-04 10:05:00.09
Mean = 1090.132

o = 381.849

Exposure Time =30.0.s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 899.207
maXx = mean + 2 o0 = 1853.831
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knh_V1024 Her r_30s 2024-06-04T10-(

UTC 2024-06-04 10:06:00.10
+ Mean = 1126.915

o=470.123
Exposure Time =30.0.s
1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 891.853
maXx = mean + 2 o0 = 2067.161
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knh_V1024_Her i 30s_2024-06-04T10-0

UTC 2024-06-04 10:07:00.09
= Mean = 1123.387

o = 398.482
Exposure Time =30.0.s
1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 924.146
maXx = mean + 2 o = 1920.351
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knh_V1024 Her_hrg 420s_2024-06-04T[L0-08-00

UTC 2024-06-04

Mean = 1107.204

o=174.918

Exposure Time =420.0 s

10:08:16.32

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 1019.745
maXx = mean + 2 o0 = 1457.041
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knh_V1024 Her_g 30s 2024-06-04T10-
UTC 2024-06-04 10:20:00.12

Mean = 1102.696

o = 352.806

Exposure Time =30.0.s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 926.293

max = mean + 2 o = 1808.309
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knh_ V1024 Her r 30sf2024-06-04T10-2
UTC 2024-06-04 10:21:00.12

Mean = 1162.721

o = 393.609

Exposure Time =30QL0.s

1MHz High Sensitiyity 16-bit

min = mean - 0.5 § = 965.916

max = mean + 2o = 1949.939
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knh_V1024_Her i 30s_2024-06-04T10-2

UTC 2024-06-04 10:22:00.10
Mean = 1127.907

o= 312.755

Exposure Time =30.0.s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 971.529
maXx = mean + 20 = 1753.417
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